

1) Zamień na ułamek niewłaściwy.

$$4\frac{1}{2} = \text{---}$$

$$8\frac{4}{5} = \text{---}$$

$$9\frac{6}{7} = \text{---}$$

$$12\frac{1}{6} = \text{---}$$

$$8\frac{5}{17} = \text{---}$$

$$17\frac{1}{23} = \text{---}$$

2) Wyciągnij całości z ułamka.

$$\frac{11}{6} = \text{---}$$

$$\frac{27}{5} = \text{---}$$

$$\frac{31}{4} = \text{---}$$

$$\frac{56}{8} = \text{---}$$

$$\frac{47}{6} = \text{---}$$

$$\frac{85}{9} = \text{---}$$

$$\frac{135}{8} = \text{---}$$

$$\frac{272}{5} = \text{---}$$

$$\frac{4071}{9} = \text{---}$$